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B.E./B.TECH. DEGREE EXAMINATIONS, APRIL/MAY —2011

REGULATIONS 2007
FIFTH SEMESTER

EC 1303 — MICROPROCESSORS AND MICROCONTROLLERS
ELECTRONICS AND COMMUNICATION ENGINEERING

Time: Three Hours Maximum:100 marks

ANSWER ALL QUESTIONS
PART-—A (10x2=20 marks)
The instruction LDA 2050H copies the contents of the
memory location 2050H into the accumulator. Identify
the contents of the demultiplexed address bus Ais_Ao
and the data bus in the fourth machine cycle when the

control signal is asserted.

If the program counter is always one count ahead of the
memory location from which the machine code is being
fetched, how does the microprocessor change the

sequence of program execution with a jump instruction?

Port A of the 8255 is set up in mode 1 and the status
word is read as 18H. Is there an error in status word?
Justify

Define the following terms of 8279 (i) Two key lock out
ii) N key roll over.

What is meant by pipelined architecture? How it is
implemented in 80867

N




[image: image2.png]6. Write the difference between near & far procedure?

7. Write down the difference between microprocessors &

microcontrollers?

8. Which bits in which registers must to be set to give the
serial data interrupt the highest priority?

9.  What is meant by direct addréssing mode?
10. Why stop bits are used in asynchronous communication?

- PART-B (5% 16=80 marks)

11. (@ :(1') ) Write-a program to check a set of six signed
numbers and adds the positive numbers only.
®
(u) Explain in detail the addressing modes of 8085
with an example for each. 8)

Or

(®) (@) Two machine codes are stored in memory location
2000 H&2001H. The first machine code
represents the opcode (3EH) to load a data byte in
accumulator and second code (32H) represents
the data byte to be loaded in the accumulator.
Illustrate bus timings as these codes are
executed. (8)




[image: image3.png]12.

13.

(a)

b

(@)

®)

(ii) Briefly explain the vectored interrupts of 8085,

®)
(i) With the required diagrams explain in detail the
operating modes of 8251. (16)

Or

Interface an 8 bit AID converter with 8085
microprocessor unit Wsing memory mapped 1/0 and the
interrupt RST 6.5 and w‘rite‘ ‘an interrupt routine to
read the output data of the ‘(}Q\nverter store it in
memory an;i cgltinue to collect.data for the specified

number of tjmésf‘ (16)

With neat diagram explain in detail the internal
architecture and register organization of Intel 8086
microproces§or. (16)

Or

(i)  Write a program to find square root of two digit
number assuming that the number is a perfect

square. 8)

(i) Write an ALP to convert a four digit octal

number into a decimal number. (8)
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15.

(@)

(]

(@)

®)

With  neat diagram  explain  in detail  the
microcontroller Hardware. (16)

Or

Discuss in detail the types of interrupts, interrupt
priority, IE, IP function registers and interrupt control
of 8051. (16)

@) Discuss in detail the jump and call instructions
of 8051. . ®)

(i)  Write a program to find the address of first two
internal RAM locations between 20H and 60 H
whichcontain consecutive numbers, If so, set the
carry-flag, else clearthe flag. 8

Or

@ . Explain in detail the way to interface 8051 to
LCD display and also write the subroutine to
initialise and display the message "HELLO"” on
LCD. (16)





